Manuals+ — User Manuals Simplified.

STELLA 673951 Computer Table Instruction Manual

Home » STELLA » STELLA 673951 Computer Table Instruction Manual ™

Contents

1 STELLA 673951 Computer
Table

2 Product Information

3 General Care

4 Cleaning Instructions

5 Parts List

6 Assembly Instructions
7 SCREWS LIST

8 ASSEMBLY STEPS

9 Documents / Resources
10 Related Posts

STELLA 673951 Computer Table


https://manuals.plus/
https://manuals.plus/
https://manuals.plus/category/stella
https://manuals.plus/stella/673951-computer-table-manual.pdf

Product Information

The Computer Table, model number 673951, is a furniture product designed to be used as a desk for computers.
It comes with assembly instructions and a parts list.

General Care

» Keep the furniture out of direct sunlight to avoid damage or fading.

« Use desk pads and coasters to protect the surface from dents, scratches, and moisture from hot or cold liquids.

Cleaning Instructions

« For cleaning, wipe the surface with a damp (not wet) cloth or wipe dry with a clean lint-free cotton cloth.

« Window cleaning liquid or a similar cleaning liquid can be used to clean glass surfaces.

Parts List

The following parts are included with the product:



Part Number Quantity ltem
A 28 3x15 mm bolt
B 30 6x40 mm bolt
C 6 4x14 mm bolt
D 5 6x35 mm bolt
E 4 6x40 mm bolt
F 6 4x20 mm bolt
G 12 6x25 mm bolt
H 12 4x30 mm bolt
| 4 Drawer set (3 sets)

Assembly Instructions

Please follow the steps below to assemble the Computer Table:

Read the assembly instructions carefully before installation.
Do not tighten screws until all screws are in place.

Refer to the parts list to ensure all parts are included.
Follow the steps illustrated in the assembly diagram.

Use the correct size and type of screw for each step.
Adjust connecting piece direction if needed.

Insert bolt when connecting piece condition is as illustrated.

© N o g > 0w Db =

Repeat steps 18 to 21 to install other drawers.

Please refer to the assembly diagram and parts list for more detailed instructions.

« General Care
o Keep your furniture out direct sunlight-Use desk pads and coasters to protect the surface from
dents,scratches,and moisture from hot or cold liquids.
« Cleaning
o For cleaning, wipe the surface with a damp (not wet) cloth or wipe dry with a clean lint free cotton cloth.

o Window cleaning liquid or a similar cleaning liquid can be used to clean glass surface.

PARTS LIST



1000




SCREWS LIST

® 020
D D ® D
@ & Lef)
3 SETS
®
PART|QTY.| ITEM
BN 28 | 3X15MM | o
B3 30 | ex4aomm | #m—w
6 | 4X14MM | from=
Bl 5 | exasmm | (o
E 4 6X40 MM COIIIRIID
B3 s | 2covv | o




PART

QTY. ITEM

12 6X25 MM (=) N)))

12 4X30 MM (o=

6X40MM BOLT INSTALLATION AS BELOW

-

E Bolt
@ Connecting piece

AN _

» Adjust connecting piece direction if condition as illustrated

« Insert bolt when Connecting piece under Such condition

%)

ASSEMBLY STEPS













4X14 MM
fr 2PCS

3] 6X35MM %
J

L (1P C




=3 6X40 MM
D=—m4PCS




I3 6x40 MM
2PCS

\

{@ : @//

'3 6X40 MM

/



I 2PCS

4X14 MM
fro- 4PCS







Repeat step 18 to step 21
to install other drawers




gl B T'Q

Thanks for purchasing one of our products, please read carefully the assembly instructions before the installation
(Attention: Do not tighten the screws before all screws are in place).

Documents / Resources

STELLA 673951 Computer Table [pdf] Instruction Manual
673951 Computer Table, 673951, Computer Table, Table

Manuals+,


https://manuals.plus/m/5a55c434a4f3eb7ab1f227e759b4506bb0edf932519d244de1792682b8a565d1
https://manuals.plus/m/5a55c434a4f3eb7ab1f227e759b4506bb0edf932519d244de1792682b8a565d1_optim.pdf
https://manuals.plus/

	STELLA 673951 Computer Table Instruction Manual
	STELLA 673951 Computer Table
	Product Information
	General Care
	Cleaning Instructions
	Parts List
	Assembly Instructions
	SCREWS LIST
	ASSEMBLY STEPS
	Documents / Resources


